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@) Please check that this question paper contains 12 printed pages.

(i)  Code number given on the right hand side of the question paper should be written on the title
page of the answer-book by the candidate.

(i)  Please check that this question paper contains 32 questions.

(iv)  Please write down the serial number of the question in the answer-book before attempting it.

(v) 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.

ACCOUNTANCY

Time allowed : 3 hour: Maximum Marks : 80

General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises two parts — Part A and Part B. There are 32 questions in the
question paper. All questions are compulsory.

(it) Part A is compulsory for all candidates.

(iii) Part B has two options i.e. (1) Analysis of Financial Statements and (2) Computerized
Accounting. You have to attempt only one of the given options.

(iv) Heading of the option opted must be written on the Answer-Book before attempting the
questions of that particular OPTION.

(v) Question nos. 1 to 13 and 23 to 29 are very short answer type questions carrying 1 mark each.

(vi) Question nos. 14 and 30 are short answer type—I questions carrying 3 marks each.

(vii)  Question nos. 15 to 18 and 31 are short answer type-II questions carrying 4 marks each.

(viit)  Question nos. 19, 20 and 32 are long answer type-I questions carrying 6 marks each.

(ix) Question nos. 21 and 22 are long answer type—II questions carrying 8 marks each.

(x) Answers should be brief and to the point. The answer of each part should be written at one
place.

(xi) There is no overall choice. However, an internal choice has been provided in 2 questions of three

marks, 2 questions of four marks and 2 questions of eight marks. You have to attempt only one
of the choices in such questions.
(xii))  However, separate instructions are given with each part and question, wherever necessary.
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PART A

(Accounting for Not-for-Profit Organisations, Partnership Firms and Companies)

1. Gagan, a partner in a partnership firm withdrew ¥ 10,000 in the beginning of each

quarter. For how many months would interest on drawings be charged ?
(A) 6 months

B) 6-5 months

© 7-5 months

(D) 4-5 months

2. At the time of admission of a partner, ‘General Reserve’ appearing in the Balance Sheet

of the firm is transferred to the capital accounts of the following :
(A) Old partners in old profit sharing ratio

B) Old partners in new profit sharing ratio

© All the partners in the new profit sharing ratio

(D) Old partners in sacrificing ratio

3. is a part of Authorised Capital that is issued for subscription.
(A) Subscribed Capital
(B) Called-up Capital
© Issued Capital
(D) Paid-up Capital

4, Income and Expenditure Account is prepared by Not-for-Profit Organisations on
basis. (Cash/Accrual)
5. Kiran Limited purchased machinery for ¥ 12,00,000 from Rohan Limited. The company

paid the amount by issue of equity shares of ¥ 10 each at a premium of 20%. The
number of shares to be issued to Rohan Limited will be :

(A) 1,80,000 shares
(B) 1,50,000 shares
(C) 1,20,000 shares
(D) 1,00,000 shares
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6. At the time of dissolution of a partnership firm, a creditor worth ¥ 90,500 took away
stock worth ¥ 77,775 in full settlement. Which of the following will be the accounting
entry for the same ?

Particulars Dr. A;nount Cr. A:Tnount
(A) | Realisation Account Dr. 90,500
To Bank Account 90,500
(B) Realisation Account Dr. 77,775
To Bank Account 77,775
(&) Creditor’s Account Dr. 77,775
To Bank Account 71,775
(D) | No entry
7. Shiv, Mohan and Hari were partners sharing profits in the ratio of 2 : 1 : 1. Mohan died

on 318t March, 2020. Profit earned by the firm for the year ended 315t March, 2020 was
T 1,44,000. Amount of profit to be credited to Mohan’s Capital Account will be :

(A) T 72,000
(B) ¥ 3,600
©) ¥ 36,000

(D) ¥ 18,000

8. X, Y and Z were partners in a firm sharing profits in the ratio of %, % and 1

respectively. Z decided to retire from the firm. On the date of his retirement, ‘WorkmeGn
Compensation Reserve’ of ¥ 1,20,000 was appearing in the Balance Sheet of the firm.
The claim on account of Workmen Compensation was determined at ¥ 67,500. Excess of
claim amount over the reserve will be :

(A) Debited to Revaluation Account

B) Credited to Revaluation Account

© Debited to Partners’ Capital Accounts

(D) Credited to Partners’ Capital Accounts
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10.

11.

12,

13.

14.
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Which of the following is a charge against profit ?

(A) Interest on Partners’ Loan

(B) Partners’ Salary

© Interest on Partners’ Capital

(D) Interest on Partners’ Drawings

In the absence of a , mutual relations between partners are

governed by the Indian Partnership Act, 1932.
is opened to credit the share of profit of the deceased partner, till the time of
his death to his Capital Account.
(A) Profit and Loss Appropriation Account
(B) Profit and Loss Suspense Account
© Profit and Loss Account
(D) Profit and Loss Adjustment Account

A and B are partners in a firm sharing profits in the ratio of 3 : 2. C was admitted as a

new partner. A surrendered Lin of his share and B surrendered %rd of his share in

favour of C. The new profit sharing ratio will be :
(A) 27:16:15

B) 27:16: 17

© 27:16: 14

(D) 27:16:13

Super-profit is equal to less

(A) Actual Profit; Normal Profit

(B) Normal Profit; Actual Profit

© Average Profit; Net Assets

(D) Assets; Outside Liabilities

(a) From the following information, calculate the amount of medicines consumed

during the year that would appear in the Income and Expenditure Account for
the year ended 318t March, 2020 :

Particulars Amount
<

Stock of Medicines on 1.4.2019 1,50,000
Creditors for Medicines on 1.4.2019 60,000
Stock of Medicines on 31.3.2020 1,90,000
Creditors for Medicines on 31.3.2020 24,000

ount paid for Medicines during 5.00,000
the year

OR
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(b) From the following information, calculate the amount of subscriptions to be
credited to the Income and Expenditure Account for the year ended
315t March, 2020 :

A
Particulars mount
<

Subscriptions received during the year 1,60,000
Subscriptions outstanding on 11.600
315t March, 2020 ’
Subscriptions outstanding on 38.000
315t March, 2019 ’
Subscriptions received in advance on 9.000
318t March, 2020 ’
Subscriptions received in advance on

t 17,000
318t March, 2019

15. (a) P, Q and R were partners in a firm sharing profits and losses in the ratio of

5:3:2. The partnership deed provides for charging interest on drawings
@ 10% p.a. The drawings of P, Q and R during the year ending 315t March, 2020
amounted to ¥ 20,000, ¥ 30,000 and ¥ 50,000 respectively. After the final
accounts have been prepared, it was discovered that interest on drawings had
not been charged.

Pass the necessary adjustment entry to rectify the omission of interest on
drawings. Also show your working notes clearly.

OR

(b) W, X and Y were partners sharing profits and losses in the ratio
of 2: 2:1. X was guaranteed a profit of ¥ 10,00,000. The firm earned a profit of
¥ 17,50,000 for the year ended 315t March, 2020.
Prepare the Profit and Loss Appropriation Account of W, X and Y for the year
ended 315t March, 2020.

16. On 15t April, 2019, Chetan Ltd. was formed with an authorised capital of ¥ 22,50,000
divided into 22,500 equity shares of ¥ 100 each. The company invited applications for
18,750 equity shares. The amount was payable as follows :

On application — T 30 per share
On allotment — T 40 per share
On first and final call — ¥ 30 per share

The issue was fully subscribed and the company alloted shares to all applicants. All
money was received except the first and final call on 3,500 shares.

1) Present the share capital in the Balance Sheet of the company as per
Schedule III Part I of the Companies Act, 2013.
(i) Also prepare ‘Notes to Accounts’ for the same.
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17. Pass the necessary journal entries for the following transactions in case of dissolution of
the partnership firm of X and Y after various assets (other than cash and bank) and
third party liabilities have been transferred to Realisation Account : 4
1) Dissolution expenses were T 4,000.

(i1) Machinery of the book value of ¥ 50,000 was sold in the market for ¥ 47,000 for
which a commission of ¥ 500 was paid to the broker.

(iii) A creditor for ¥ 70,000 accepted stock valued at ¥ 90,000 and paid to the firm

T 20,000.
@iv) Loss on realisation ¥ 40,000 was divided between the partners X and Y in the
ratio of 5 : 3.
18. State whether the claim is valid if the partnership deed is silent in the following cases,
give reason in support of your answer : 2+2=4
6 Anil and Priya are partners in a firm. Anil had advanced a loan to the firm. He
claims interest @ 9% p.a.
(1) S and V are partners in a firm. S wants interest on capital @ 8% p.a.
19. From the following Receipts and Payments Account of Cool Club, prepare Income and
Expenditure Account for the year ended 315t March, 2020 : 6

Receipts and Payments Account of Cool Club for the year ended
315t March, 2020

Receipts Am;unt Payments Amgunt
To Balance b/d 42,500 | By Salaries 33,500
To Subscriptions : By Printing 23,000
2018 - 19 1,500 By Sports Material 21,000
2019-20 60,000 By Furniture (1.10.2019) 20,000
2020-21 1,800 63,300 | By 10% Investments (1.10.2019) 70,000
To Proceeds from Charity Show By Balance c/d 920.000
(Included ¥ 1,700 of last year) 81,700 ?
1,87,500 1,87,500

Additional Information :
Depreciation to be provided @ 20% p.a. on furniture.

20. @) Anand Ltd. purchased machinery worth ¥ 3,15,000 from Mahima Ltd. The
payment was made by issue of 10% debentures of ¥ 100 each issued at a
discount of 10%.

Pass the necessary journal entries for purchase of machinery and issue of
debentures in the books of Anand Ltd.

(11) Manas Ltd. issued 10,000, 7% debentures of ¥ 100 each at a premium of 10%
redeemable at a premium of 10% after 6 years.
Pass the necessary journal entries in the books of Manas Ltd. regarding issue of
debentures. 3+3=6
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21. (a) R and S were partners in a firm sharing profits and losses in the ratio of 3 : 2.
Their Balance Sheet as at 315t March, 2020 was as follows :
Balance Sheet of R and S as at 315t March, 2020
Liabilities Am;unt Assets Amgunt
Capitals : Cash at Bank 10,000
R 60,000 Debtors 65,000
S 40,000 1,00,000 | Less : Provision for
Doubtful Debts 5,000 60,000
General Reserve 20,000 | Stock 20,000
Creditors 20,000 | Machinery 50,000
Bills Payable 20,000 | Land and Building 20,000
1,60,000 1,60,000
M was admitted on the above date as a new partner for %th share in the profits of the
firm. The terms of agreement were as follows :
1) M will bring ¥ 80,000 as his capital and ¥ 60,000 as his share of goodwill
premium.
(ii) Machinery was revalued at ¥ 45,000.
(iii) Stock will be reduced by 10% and Land and Building will be appreciated by 40%.
Prepare Revaluation Account and Partners’ Capital Accounts.
OR
(b) X, Y and Z were partners in a firm sharing profits and losses in the ratio of
5:3: 2. Their Balance Sheet as at 315t March, 2020 was as follows :
Balance Sheet of X, Y and Z as at 315 March, 2020
Liabilities Am;unt Assets Am;unt
Creditors 66,500 | Land 3,00,000
Bills Payable 10,000 | Furniture 10,000
Profit and Loss Account 22,500 | Stock 20,000
Provision for Legal Claims 57,500 | Debtors 20,000
Capitals : Less : Provision for
prats : Doubtful Debts 500 19,500
X 1,20,000 Patents 45,000
Y 97,000 Bank 50,000
Z 71,000 2,88,000
4,44,500 4,44 500
67/1/1 Page 7
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22.

23.
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On the above date, Z retired. The terms of retirement were :

(1) Goodwill of the firm was valued at ¥ 80,000.

(i1) Land will be appreciated by 10% and furniture will be depreciated by 5%.
(ii1) Provision for legal claims will be made at ¥ 61,000.

@iv) T 90,000 from Z’s capital account will be transferred to his Loan Account and
the balance will be paid to him by cheque.

Prepare Revaluation Account and Partners’ Capital Accounts. 8

(a) Anurag Ltd. invited applications for issuing 1,00,000 equity shares of ¥ 10 each
at a premium of 10%. The amount was payable as follows :

On application — T 3 per share

On allotment — T 3 per share (including premium)
On first call — ¥ 2 per share

On second and final call — Balance

Applications for 1,50,000 shares were received. The directors decided to reject
applications for 50,000 shares and to refund the excess application money in
full. Gopal, holding 600 shares, failed to pay the first call and the second and

final call.
Pass the necessary journal entries for the above transactions in the books of
Anurag Ltd. Open Calls-in-Arrears Account, wherever necessary. 8
OR
(b) Pass journal entries for the following transactions : 4+4=8

1) AXN Ltd. forfeited 2,400 shares of ¥ 10 each for non-payment of final
call of ¥ 3 per share. Out of the forfeited shares, 800 shares were
reissued at ¥ 8 per share as fully paid-up.

(ii) Vanya Ltd. purchased a running business from Hardik Ltd. for a sum of
¥ 18,00,000. The payment of T 10,00,000 was made by issue of equity
shares of ¥ 10 each and balance by a cheque. The assets and liabilities
acquired from Hardik Ltd. consisted the following :

=

Machinery 9,00,000

Land and Building 13,50,000

Furniture 8,50,000

Sundry Creditors 3,00,000

PART B
OPTION 1

(Analysis of Financial Statements)
Which of the following is not a limitation of financial analysis ? 1
(A) It does not consider price level changes.
(B) It is just a study of interim reports.

©) It may be misleading without the knowledge of the changes in accounting
procedures followed by a firm.

(D) It identifies the reasons for change in the financial position of the firm.
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25.

26.

27.

28.

29.

30.
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will be the operating profit ratio, if the operating ratio is 83-79%.

Liquid Assets do not include :

(A) Trade Receivables

B) Cash and Cash Equivalents
©) Inventory

(D) Short-term Investments

Which of the following transactions will not result in flow of cash ?
(A) Purchase of Building of ¥ 12,75,000 for cash

(B) Cash deposited into Bank ¥ 12,50,000

© Issue of Equity shares of ¥ 20,00,000 for cash

(D) Redemption of 8% Debentures of T 7,50,000 for cash

While preparing Cash Flow Statement, ‘Commission and Royalty’ received is shown
under :

(A) Financing Activity

B) Investing Activity

© Operating Activity

D) Both (B) and (C)

Horizontal analysis is also known as analysis.

helps to assess the short-term solvency of a business.
(A) Turnover Ratio
(B) Solvency Ratio
© Liquidity Ratio
(D) Profitability Ratio

(a) The Current Ratio of a company is 2 : 1. State giving reasons, whether the
following transactions would reduce, improve or not change the Current Ratio :

1) Payment of Current Liability
>i1) Purchased Goods on Credit
OR

(b) Under which heads will the following items appear in the Balance Sheet of a
company as per Schedule IIT Part I of the Companies Act, 2013 ?

(1) Loose Tools
(ii) Capital Reserve
(1i1) Bills Payable



31. (a) From the following information, prepare a Comparative Statement of Profit and

Loss :
Particulars 2019 — 20 2018 - 19
< <
Revenue from Operations 60,00,000 45,00,000
Employee Benefit Expenses 30,00,000 20,00,000
Other Expenses 15,00,000 10,00,000
Tax Rate 60% 60%
OR
(b) From the following information, prepare a Common Size Balance Sheet :
Particulars Note 31.3.2020 31.3.2019
No. T T
I - Equity and Liabilities :
1. | Shareholder’s Funds 4,00,000 2,00,000
2. | Non-Current Liabilities 2,50,000 1,00,000
3. | Current Liabilities 1,50,000 1,00,000
Total 8,00,000 4,00,000
IT - Assets :
1. | Non-Current Assets 5,00,000 2,50,000
2. | Current Assets 3,00,000 1,50,000
Total 8,00,000 4,00,000
32. @) From the following information, calculate cash flow from Investing Activities :
Particulars 31.3.2020 31.3.2019
< <
Plant and Machinery 3,00,000 2,00,000
Goodwill 1,20,000 40,000

Additional Information :

A machine costing ¥ 50,000 (depreciation provided thereon ¥ 15,000) was sold
for ¥ 40,000. Depreciation charged during the year was ¥ 50,000. Show your
working notes clearly.
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24.
25.

26.

27.
28.

29.
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(ii) From the following information, calculate cash flow from Financing Activities :

31.3.2020 31.3.2019
Particulars
< <
Equity Share Capital 18,00,000 10,00,000
12% Debentures 4,00,000 3,00,000
Securities Premium Reserve 1,40,000 1,00,000

Additional Information :

Interest paid on Debentures was ¥ 36,000. 3+3=6
PART B
OPTION 2
(Computerised Accounting)
SQL stands for : 1
(A) Specific Query Language
B) Software Query Language
© Structured Query Language
(D) Standard Query Language
Define ‘Range’. 1
Which of the following is not an advantage of Computerised Accounting System ? 1
(A) Record keeping
(B) Timely generation of reports
©) Effective control over the system
(D) Faster obsolescence of technology
The function PMT is used to compute which of the following ? 1
(A) Maximum Salary
B) Amount of Depreciation
© Loan Repayment Schedule
(D) Minimum Salary
State any two attributes of information to be stored in Payroll database. 1
A is defined as a large sheet which contains data and information arranged in
rows and columns. 1
Which of the following is the correct activity sequence of the basic information
processing model ? 1
(A) Collect data, organise data, process data and communicate data
B) Organise data, collect data and process data
©) Organise data, collect data and communicate data
(D) Process data, collect data and organise data
Page 11 P.T.O.



30. (a) State any three features of Computerised Accounting System.

OR
(b) State any three types of accounting vouchers used for entry in Tally software.
31. (a) Explain any four limitations of a Computerised Accounting System.
OR
(b) Explain adjusting entries.
32. Explain how a software provides data security to its users.

67/1/1 Page 12
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T H T 10,00,000 F AT H TR & T off | 31 7€, 2020 H GEE gL A H FH A
T 17,50,000 1 @4 1T fepa |

31 A€, 2020 % GATH §C 9 o (oY Eocd, ToH AT 15 I H-g faf=iem @
TR AT | 4

16. 1 30, 2019 &1 T 100 s s 22,500 FHAT =0 H fa9® T 22,50,000 1 Tfeeha Isf
1y =ad fAfies =8 T8 | HEt 918,750 HHAT 31N % fou e mba fhw | ufyr W

CUGIEREIS B ED i o IR
TG | — T 30 ufd 3w
IATE W — T 40 yfq 3
o wd 3ifa| I | - ¥ 309fa e

A of ¥ @ sfvgm @ T q w4 @ oTegshi I ST W AMEeA W
e | 3,500 3= W Yom wa SAfaw I TR 1 Srewt Tt ufyr yred & e |

6)) HE AfufEm, 2013 1 G T 9W 1 % AR HFT 1 T ISl 38eh &Ad
foraror 4 wefsia hifr |

(ii) 3Gk fIU ‘@i & Aicd’ off IR Hifse | 4
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17. ol ofErdfoE (T do1 §% 1 SisH) qd1 i 98 oIdisl ol a9el @ H TaHmad
A o TYE (I el % T v qen atg i wmerert wH % famed % o i feafa & fog
TS ST Tt i 4
) foreres =@ T 4,000 9 |
(ii) T 50,000 J&deh Goot sl T I IR § T 47,000 § =T TR 94T 36 AU e
I T 500 HHIIH T P foham T |

(iii)) ¥ 70,000 % TH TSR 4 T 90,000 TeI T ik o foram qem & & T 20,000 H
A R |

(iv) et W T 40,000 I FIH H1 5 : 3 % UG § AR T q1 918 H sie fmm m |

18. 3@ HINE o dEieht do@ % 9 | e aitfeutaat § fhe 7 e & 99 8, 319 W 6

&1 § R AT 2+2=4
) st et R e v § AEiER B | e T v 1 uE =0 o @ | 3 99 anftes &
RS IO RACIRC

(i) " qen <t vk wH H @EER § | W =rean § fh Ooff W 8% anf¥e @ @ s fean S |
19. % F@9 % W TN @ gTH @ ¥ 31 7€, 2020 S FHHE §C 99 % 0T ™ Td =9 @l

Tam i 6
31 W, 2020 T THTH TY TW & 10 FHet Feral 1 TTH TS YIa @t
. Tt ¥y
e
T K 3
3y = @ 42,500 | o 33,500
== fufen 23,000
2018 - 19 1,500 To%hs Gt 21,000
2019-20 60,000 %R (1.10.2019) 20,000
2020 -21 1,800 63,300 | 10% fHar (1.10.2019) 70,000
A o it
3y g o U 20,000
(T 1,700 foset o & wftafad) 81,700
1,87,500 1,87,500
TR G -
Hftet W 20% ITYh G A HeAg™ AT 7 |

20. () o= fafiee 4 #fem fafids & T 3,15,000 qea 1 Wil a1 1 | 73 & JEaE
T 100 JI% % 10% RO Bl 10% qg T Fifta wtes form w2 |
= fafieg it qwaeh! § Wi 3h T U9 RUIMAT o TR T STavash UseHE
gfafsat i |

(i)  #mE fafRE 9 T 100 T F 10,000, 7% FOGHAT w1 FHA 10% Hfem w fRE =
FROTTAT H1 M B: a9 9T, 10% ST 0w B |
Ag fafee i geaet § RoEt o e @ araf-ad smaveeh UsHmen Sfafsat i |
3+3=6
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21. (a) OSIR AU TH UH ®H H TEICH 9 A1 3 : 2 % UG H w-g1fH sfed o | 31 916, 2020
ol o1 feufa feemor i yehm @ o
31 WT=, 2020 i 3R a1 vH 1 feurfa feero
S afsr bt ufsr
3 T
il & H T1g 10,000
IS 60,000 TER 65,000
e 40,000 1,00,000 | =e7 : Gfewe it
fore graem 5,000 60,000
I = 20,000 | T 20,000
TR 20,000 | wefidt 50,000
=7 faa 20,000 | ff wd wam 20,000
1,60,000 1,60,000

s o e 3 it & %ém%m@aﬁ@wmﬁmww | Ty v

e gepm off -

(1)
(i1)
(iii)

w31t 9t W fw 80,000 e T Sfifirrg § o9 vt % foTw T 60,000 @O |
T T G T 45,000 foRam T |
Tk I 10% HH TRAT AT q2 Y TF 9o Sl 40% SR ST |

JHATRA AT a9 el Yol @Td dar Y |
HAYAT
(b)  THH, TS QYT HS Teh HH U WEER 9§ 991 5: 3 : 2 % U A en9-gi dfed 9 | 31 A,
2020 w1 3Rt feafa foawor f e & o
31 AT, 2020 i T, 918 a1 We okt ferfa feamwon
TR 66,500 | ofH 3,00,000
7 faa 10,000 | W=k 10,000
TH-FT @It 22,500 | T2 20,000
faftrer grat & fore grau™ 57,500 | TER 20,000
. HeT ; Gy ko & fow
i e 500 19,500
ecze) 1,20,000 THEd 45,000
g 97,000 EED 50,000
ES 71,000 2,88,000
4,44,500 4,44,500
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22.

23.

67/1/1

3w fafdr ot e 3 Sraehir Tgv foRaT | SraehTSr WEW A Y wd of -

@) ®H I EATTd T JeAehd T 80,000 fomam T |

(i) o B 10% TR ST FAT BT’ T 5% GoIgTd TIET ST |

Gii)  fafees @l & T T 61,000 1 Y@EH Rl ST@ |

(iv) 98 % Yt W & 3Wh KO @A H T 90,000 T AT R ST qen 39 AT
A ek gRT feham ST@ |

THHEITR @I 9T TTEIER o ISt @Id aIR I | 8

(@) W AR 3 T 10 Y% % 1,00,000 FHAT 39 I 10% Sfirm w frif w6 %
fTu s1ree st fop | TfSt o1 YA 1 SRR @ < o

AHeE W - T 3yfgem
& W — ¥ 3 yfq s (Nfrm afdrfaa)
T ITEAT W - T 2yfgem

T @ efmamTwm - 9w
1,50,000 3731 % U etmeed ww gu | Fgwet 4 @ R ferm R 50,000 st %
JEET T T I qen Afaiew 3T Uit i gl ®9 | amw = fe S
AT, S 600 AN T TNk T, ToH AT qe fgefi=r wa sifaw ammn 1 Jrae & o

IHHA T |
g fafiee 6 geaet # 3w el & foe e s wfafsat fife | wwt
AT B, e I Wil GIfeAT | 8
ST
b)) = et % faw tsmmEn gfafsEt i 4+4=8

1) T UH O fAfeg 9 T 10 I3 & 2,400 30 1 T 3 Tfa A9 i i I
W YA T8 B T BT L o= | 07 fohy T o § | 800 I I T 8
gfe 3791 qui e g frifea @ feam e |
i) I fafRe 3 Bfdés fafiee @ wh =1 =ea™ &1 %3 T 18,00,000 | fa |
T 10,00,000 T PTAE T 10 JcAeh o THAT A0 I HITHT ek fohaT T=T qen
AY I PIAH A g1 o T | 7l fofaee @ erfermor i w8 aferaforn
o et # e aftfad 9
=
ENiEn 9,00,000
offd e wed 13,50,000
LN 8,50,000
fafay SR 3,00,000
R I RCH
ferereu 1
(i Teraort &1 fergerwon)
=1 0 9 Fa-t focfim fowetwor < wes @ 787 2 2 1
(A) T8 U Tty uRadEl ol eH § T8 W@ |
(B) I had =Ry FfdagHl 1 Teh MEITH 7 |
(C)  H g STHE I AW Tt @i TG H g aTel UiadHi o T o foHT I8 ymeh
Bl WA § |
(D) I8 w4 A foxfr feufa & B9 arel afedl & HRoT B TEEH HAT R |
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24, AR Y=TEH FIUE 83-79% B, A Y= T IUTA BT |
25. A Rt § aftifeoa 787 & -

(A) ST I
(B)  Uchg 41 Thg-ged
(C)  wIH (wregE)

(D) 3B o

26. T H § HH-T ACH! S YN Tk YaTg B 7gT 8T ?
(A) T 12,75,000 % & 1 T H
(B) §% ¥ T 12,50,000 g ST T
(C) T 20,00,000 % THAT AT HT TG FRHT
(D) T 7,50,000 % 8% FUTGAT hT T IMeH

27.  Uehg Y8 foemur U st o ute fohu U ‘mHivE qon Taedt i fheeh T=aild i S @ ?
A  foxfiw wiafafa
®)  fraw afafafy
(C) v Tiafafa
D)  (B)d« (C) AT

28.  afa fagersur =t forgersor & w9 # off ST ST R
29. SIGH sl ITcTehIcAd TSN &HAT Sl ATheld i § g aidl 3 |
(A)  3TTEd U™

(B)  RUNMEA &HAT I
(C) T I
(D) e S

30. (a) U IO H1 A UG 2: 17 | FRO gd g Sy fob T e | =) iu
T, ST AT 3HH HIg IR Tal AT :

) 1] AT T YA
(ii) T 1 3UR T

AUAT
(b)  wr arfufrem, 2013 g I 90 1 % gER 7 wgi &1 et & fearfa foamon &
fop sfident = et=ta gmiian ST 2
(i) & HER
Gi) g E=
Gi) <@ o=
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81. (a) = g @ qoHteas en9-gi faawor qam i
P 2019 — 20 2018 — 19
T T
eI | 3T 60,00,000 45,00,000
HHr feaary == 30,00,000 20,00,000
I = 15,00,000 10,00,000
ey 60% 60%
T
(b)  Fr g @ e R feufa faawer IR i
P =n?: 31.3.2020 31.3.2019
9. T T
I — FHAT TUT €T ¢
1. | rwemes fAfemt 4,00,000 2,00,000
2. | = eFand 2,50,000 1,00,000
3. | e ZFard 1,50,000 1,00,000
£y 8,00,000 4,00,000
II - ufearatEt «
1. | s/ uftEmtot 5,00,000 2,50,000
2. | =mq ittt 3,00,000 1,50,000
P 8,00,000 4,00,000
32. () = g e, e afafafit @ e arg it momEr iR
P— 31.3.2020 31.3.2019
3 3
I qAT AL 3,00,000 2,00,000
LI 1,20,000 40,000
AR G :
T 50,000 @A H TH WA (FE W T 15,000 ToI8™@ & TEaH T m=m) H
T 40,000 H S=1 T | 99 § T 50,000 ASTE TN AT | T Hrl-fAfEt i w9E
®9 § M |
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23.

24.
25.

26.

27.
28.

29.
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Gi) T g g, o hkafafe @ dee yarg i T K

: 31.3.2020 31.3.2019
3 g
THAT 37 Y 18,00,000 10,00,000
12% =FoT9s 4,00,000 3,00,000
gfayfd SAfrm w== 1,40,000 1,00,000
SR T :
FOTAT T T 36,000 ST T YTAH RAT TR | 3+3=6
RG]
farreu 2
(arfrerfer Sraiea)
TH. U, T AL R 1
A  wfafes =30 des
(B)  WIFeRR Fall e
€  wFEE T3 o
(D) e T oA
i (39) w1 affya i | 1
T ® & HH-81 Hrgediea @ik T 1 Uh A1 787 @ ? 1
A T w
B) T W gfadel AR HET
(C)  ourel W gwTE e
(D)  WENAER o1 cafd eT=ed (UAT 98 SIHT)
f.um. 3. & & 3w T g @ fergeht ot e & T fere S B 2 1
(A Aferehan I
(B)  HedsE U
(C) T YA HRIHH
(D)  Fa" A
WA oo § TR 6 T g1 & fohegl 31 o 1 3@ Hifre | 1
Th %I Teh a1 3fte w321 qen F=A1 i Um0 Tl § TR fhy 9 6 &9 H
R ferarm STTaT 2 | 1
IR AT TERAT Hied I 4 # & HIF-11 Tiafafy S73ed 98 & ? 1
(A) I UHAY, ST TS, ST ARV q9T 22T Y90
(B) T TS, 2T USHaAUT qAT ST Ufshaur
(C) 220 |, ST THAV qAT ST INUT
(D) ST UfshIUT, ST TeHaATT QAT BT TS
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30. (a)  HELHd @R Yel! i Rl i fwareti 1 3g@ HIfT |

reran
(b)  2cf AfFeeRR § yfafd & fog SwarT foby S ATt fepeel i SRR o <R@Teh dTS=Ri
@@ i |
31l. (a)  HFLOHd oh@iehd Yomel i fohgl <m EHeti i Hems |
tera

(b) U Yfafsa S qHesu |
82. U TIFA fohT bR 37U ITATTehaladl bl SATehel hl Y& JGH hidl &, THST |
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